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( 5.)'A 25-mL volume of 0.0984 M HCI is added to a sample of an unknown base. The HCI not.

neutralized (the excess HC1) by the base is titrated to a bromo henol blue endpoint with 5.85 mL
of 0.0911 M NaOH. How many moles of unknown base (antacid) are present in the original
sample?
mmaami—
» ywol@ oﬁ Hcl ao’o(ﬂo[ = MV =z
moles of NeoH woldeel = MV oo\ » . 00585 = * em53smo|

L0484 » 1025 2+ po24b6 waol

)
4 moles of w\\-add Z W oyg~ Nugpy = 200246 - 1000533 = .oo\qu,’mﬂf

6. How much time should be allowed for the titrant to drain from the buret wall before a reading is

made ?

——

(\o '—\5) se.ooﬂdf

aal) Lt ,
7- What criterion is followed in reading and recording the volume of titrant of a buret ?
———— T —_—

| -
gek goul BYE level with the bettom of the weniscus.

| @A  0.187 g sample of a CO5” antacid is dissolved with 50 mL of 0.100 M HCL The hydrochlonc

acid is not neutralized by the antacid is titrated to bromophenol blue end mt
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